(i Bh) Bl KB AR s T Lz NPE R FRET LX)

ZNE W e



o= k/“i _
CREBI) Bk SR 28 T8 (FL2 N T K T 1K) MEETEE (DCIP-NS ¢ 150)

P
2 Tk - sk HAT | HALR FHE ) FHaE
25 | 2-15#R| M Lvs
B IAVERERE NSH 17 IaTTESEEN
X ¢ 150X 5000 A [65.000 | N= 5 = 5 25. 000
B IRAVERERE NSTZ1Fi A L RES R B RES IR
e e ¢ 150X 5000 m [5.000 | L=17.077 | 5.503 = 22. 580 22. 580
EVEFES R B REES I
KN N= 4 2 = 6
B IAVERERAE NSI% IATTESEEN
e ¢ 150 X 90° 8 ]0.650 | N= 1 = 1 0. 650
¥ hAEE K NST% P R
e ¢ 150 X 45° i ]0.450 | N= 5 2 = 7 3.150
¥ hAEE K NS P R
iz h e ¢ 150 X 45° 8 10.300 | N= 1 = 1 0. 300
¥y h AR NS P 1A
iz h e $150%X22° 1/2 8 10.300 | N= 1 = 1 0. 300
¥y h AR NS P 1A
e $ 150X 11° 1/4 1 10.350 | N= 1 = 1 0. 350
BRSNS \NiA [IEGHEN
e ¢ 150X5° 5/8 8 10.350 | N= 1 = 1 0. 350
B IRAVERSRAE \NiA [IEGHEN
Hkli ¢ 150 i ]0.250 | N= 1 = 1 0. 250
BRSNS \NiA [IE IS
TR ¢ 150X 150 1 ]0.550 | N= 1 = 1 0. 550
B IRAVERRAE \NiA [IEGHEN
TR $ 150X 75 i ]0.450 | N= 1 = 1 0. 450
¥ hAEE R NS P A1A
A T ¢ 150 X 100 i ]0.450 | N= 1 = 1 0. 450
¥ hAEE R NS P A1A
g2 ¢ 150 il |0.400 | N= 2 1 = 3 1. 200
B pAVERERE \NiA
F ¢ 150 il ]0.041 | N= 4 2 = 6 0. 246
B pAVERERE \NiA
wrayysr ¢ 150 i N= 7 3 = 10




dl =1 = _
G B AR T (JL2 PO A I T %) PR (DCIPNS 6 150)

25 S EF %
EAN Tk - sk AL | AR FHE ) FHaE
25 | 2-15#R| M Lvs

B IRAVERERE iz

b FH Ao ¢ 150 1
NSFE7. 5K IPANTEHEEN

AT LA 7 byt gl o | ¢ 150 & ]0.550 | N= 1 = 1 0. 550
NSFE7. 5K IPANTEHEEN

ST b=t 8 | ¢ 150 3 10.250 | N= 2 = 2 0. 500
7. 5K IPANTEHEEN

V7 R =I5 | ¢ 150 JE |0.280 | N= 1 1 = 2 0. 560
7.5K PN 1A

FCDAY{ -4 5 ¢ 150 JE |0.280 | N= 1 = 1 0. 280
DCIPfi

7709 BT 548 ¢ 150X ¢ 150 J&]0.198 | N= 2 1 = 3 0. 594
DCIPfi

RWrkAEGF ¢ 150 B N= 1 = 1

¥y h AR NS P R MEPR =

WY 7 5 > OHTFE | 6 150X ¢ 75 1 ]0.550 | N= 1 = 1 0. 550

PN 1A R
KAnE ¢ 150 1 N= 2 = 2
PN 1A R

KA 2 P ¢ 150 il N= 2 = 2

BV K PN 1A

K i ¢ 150 il

BV K PN 1A

iy FH o ¢ 150 i
7. 5K

77 T ¢ 150 GF i N= 4 2 = 6
7. 5K

770 T ¢ 150 RF i

¥ hAER R NS P 14 53 I~HiE SEF DI

TR T ¢ 150X 150 8 ]0.200 | N= 1 = 1 0. 200
¢ 150 HITRE T

B A H=1. 20m a8 N= 3 1 = 4




dl =1 = _
G B AR T (JL2 PO A I T %) PR (DCIPNS 6 150)

B TEAR - <1k AL | HALR FHEC - ) FE
25 | 2-15H| b

¢ 150

[ARIES WV H=0. 60m #H N= 3 = 3

VCH V&% $ 150 X 50 1 N= 1 _ )

HIVP4E ¢ 50 m L= 1. 700 = 1.70

HIzWR ¢ 50 il N= 1 = 1

R W=50mm m L=49.147 | 9.913 = 59. 060

PR AR~ W=150mm AV m L =49.147 | 9.913 = 59. 060

TR L=149.147 | 9.913 | 1.700 = 60. 760 60. 760
DCIP-NS ¢ 150 L =49.147 | 9.913 = 59. 060 59. 060
HIVP $ 50 L= 1.70 = 1.700 1.700




(il Bh) B KB AR i T8 L2 NP R R TX)

B F £ (DCIP-NS ¢ 150)

725 Wi W%
o — LJJ%’? (I—F&QJ%%%/JWMLLE’E(T‘E%;%)TF&UJ%E) | . Njﬁf %g Wy | e LJJ%: <I—£&QJ%§%/~..AMIE(T‘EZ;%>TE&QJ%?E) | . Niﬁf (?fﬁ Wy | e
Al - HEE) - R OONT, BHEED - MO, CiEY), DUl (AR AcGIlr - ¥EDD - SOOI, BEE) - RO, CoEbl, DMy BEHE R
) ZEE ZYE ZHE ZYE Y | U | A+B A B+C D FENE A LY o) LY FYE | 298 | AB A B+C D
ool [T [ T[] [] HNEEEEEEEEEN
1 5.00 | 4.000 1..000 5. 000 1 1
ool [ T[] T[] [] HNEEEEEEEEEN
2 5.00 | 1.629 2.335 3. 964 1.040 | 2 2
ool | T[] T[] [] HNEEEEEEEEEN
3 5.00 | 3.000 1..000 4.000 1.000 | 2 2
ofeolo] | T[] T[] [] HNEEEEEEEEEN
4 5.00 | 1.537 2.576 4.113 0.890 | 2 2
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEE HEEEEEENEEEE
HEEEEEEEEEEE HEEEEEENEEEE
HEEEEEEEEEEE HEEEEEENEEEE
LI TP T[] en HEEEEEENEEEE
B 17.08 2.93 7 7




(il Bh) B KB AR i T8 L2 NP R R TX)

B F £ (DCIP-NS ¢ 150)

725 Wi W%
o — LJJ%’? (I—F&QJ%%%/JWMLLE’E(T‘E%;%)TF&UJ%E) | . Njﬁf %g Wy | e LJJ%: <I—£&QJ%§%/~..AMIE(T‘EZ;%>TE&QJ%?E) | . Niﬁf (?fﬁ Wy | e
Al - HEE) - R OONT, BHEED - MO, CiEY), DUl (AR AcGIlr - ¥EDD - SOOI, BEE) - RO, CoEbl, DMy BEHE R
) ZEE ZYE ZHE ZYE Y | U | A+B A B+C D FENE A LY o) LY FYE | 298 | AB A B+C D
ool | [T T[] [] HNEEEEEEEEEN
1 5.00 | 0.880 2.215 3. 095 1.910 | 2 2
ol [T L] TT] [] HNEEEEEEEEEN
2 5.00 | 2.408 2. 408 2.590 | 1 1
EREEEEENEEEN HNEEEEEEEEEN
EREEEEENEEEN HNEEEEEEEEEN
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEE HEEEEEENEEEE
HEEEEEEEEEEE HEEEEEENEEEE
HEEEEEEEEEEE HEEEEEENEEEE
LTI TP T [ e HEEEEEENEEEE
B .50 4.50 3 3




(HliBh) B K EAROE L9 Lz RFIT LX)

MBS E

(DCIP-NS ¢ 100)

4 &) I H
2 otk - ik HLAL | B Ei ) AR )
Bkt LR Bk TR
R 35k Bk
POV NSTE1ff PRI 9 A
[EXES ¢ 100X 4000 A [4.000 29 17 35 81 | 324.000
PV NSTE1ff PRI A A by
Y A ¢ 100X 4000 m |4.000 27. 650 23.90 12.91 64.453 | 64.4530
EHRES
KN 9 7 4 20
B rhAVEESRAE NS P A 1A
TR T ¢ 100X ¢ 100 & |0.500 1 1 0. 500
BhAVEESRAE NS P A A
CRTEE $ 100X ¢ 75 & |o0.450
BhAVEESRAE NS P A A
TR ¢ 100X ¢ 75 & |0.450 1 1 0. 450
BBV NS P A A
h i $ 100X 90° f# | o0.550
BBV NS P A A
it ¢ 100X 45° & |0.450 15 3 1 19 8. 550
BBV NSH P A A
ke $100X22° 1/2 & |0.400 2 2 4 8 3.200
BBV NSH P A A
A $ 100X 11° 1/4 {I& . 350 1 1 0. 350
BBV NSH P A A
ith ¢ 100X5° 5/8 & |0.350 1 1 2 0. 700
BBV NSH P A A
5% ¢ 100X 45° & |0.300 5 1 6 1. 800
BBV NSH P A A
it 52 i 4 $100X22° 1/2 & |0.300 2 2 4 1. 200
B AVERERE NS P A A
770y A T A $ 100X ¢ 75 18 |0.450 1 1 0. 450
B pAVERERE NS P A A e M ke
WAL T FE | ¢ 100X ¢ 75 & |0.550 1 2 3 1. 650
B RAVERERE NS P A A
LS ¢ 100 & |0.150 1 1 0. 150




(HliBh) B K EAROE L9 Lz RFIT LX)

MBS E

(DCIP-NS ¢ 100)

4 &) I H
2 TR - ik BT | AR Ei ) AR )
v v o TR Ee3 R
TE#R | ML | M2 | 3B | R3] 5EH
P RAVEERRAE NSTE P i 14
[t ies ¢ 100 & ]0.350 [N= 1 1 1 = 3 1. 050
B IRAVERERE NS P 93 R
NSk i ¢ 100 8 [0.250 |N= 1 1 = 2 0. 500
B IRAVERERE NS P 93 R
Ak PR R R | ¢ 100 1# N= 2 = 2
P RAVEEERAE NSTE
74+ ¢ 100  ]0.027 |N= 13 7 7 = 27 0.729
P hANEEERAE NSI%
Ly ¢ 100 @ N= 14 8 6 = 28
B OpAVERERE NS ki BER i B
Ly ¢ 100 @ N= 2 2 2| = 6
P hANEEERAE NSTE PRI A A 53 I~k HE e D I
TRT ¢ 100X ¢ 75 8 |0.200 |N= 1 = 1 0. 200
P hAVEEERAE NSTE PRI A A 53 I~Hik HE e D I
TRT ¢ 100X ¢ 100 8 |0.200 |N= 1 = 1 0. 200
AN a— T TV
TEREE $ 100X ¢ 50 18 N= 1 1 = 2
AN a— T TV
EREE 675X ¢ 50 & N= 1 = 1
KiEH
HIVP ¢ 50 m L= 110 | 2.30 6. 30 = 9.70 9.700
KiEH
HIVP 625 m
HIZyA" $50X90° 1A N= 2 2 4 = 8
PEZVE $ 25X 90° 1
PEF#Y" ¢ 50 1
PEF#Y" $25 1




BHEHRZE (DCIP-NS ¢ 100
(HliBh) B K EAROE L9 Lz RFIT LX) PR ( ¢ 100

AT o

T Tk - ik Wi | BT HEE , R

s
fen
B
il

TER | Pwil | M2 | 35HR | Rres| s

i
=

i

PVY a4vb

¢ 50X ¢ 20

PVY™ afvb

¢ 25X ¢ 20

VARV VN

DCIP ¢ 100X ¢ 25

Rk

DCIP ¢ 100X ¢ 50

Sy kKA Yy b

¢ 50

Sy kKA Yy b

¢ 25

i) 7 b= glFR

NSJ7. 5K [ABANE A

¢ 100

NSJ7. 5K IAPANIHE NI

AR 7 - EI AR | ¢ 100 Hofo.
DCIPA]

7707 AT EI T FE $ 250X ¢ 100 B oo
DCIPA]

7707 AT EI T FE ¢ 150X ¢ 100 3o
DCIPA]

7707 AT EI T FE ¢ 100X ¢ 100 3o
7. 5K IRPANTAE GHEN

)7 b=t F ¢ 100 3% |o

FCDRY LB 57 ¢ 100 i lo

FCDRY LTI ¢ 75 i lo

)7 -t gl

NSJZ7. 5K

¢ 25

bt




(HliBh) B K EAROE L9 Lz RFIT LX)

MBS E

(DCIP-NS ¢ 100)

A5 Wi L%
EXD 2 /NEI RS B | B A ) A )
H JER i JER
TER | Pwil | M2 | 35HR | Rres| s
N T 1A% BERRE BERRE BER%
KAnhE ¢ 100 Ll N= 1 1 1 3
N T 1A%

K524 i ¢ 100 bl N= 1 1 1 3

7. 5K
7707 HEFRF ¢ 100 GF 1# N= 2 1 2 2 2 9

7. 5K
7707 HEFH ¢ 100 RF 1

7. 5K
7779 HEFH 675 GF 1 N= 2 2

675
[ansIE RN H=0. 60m A N= 1 1

¢ 100
fEGIFRE" yI2 H=0. 60m A N= 2 1 3

¢ 100
fEGIFRE" yI2 H=1. 20m A N= 1 1 1 1 4

¢ 50
fEGIFRE" 9 2 H=0. 60m b
B RRTT W=50mm m L =|412. 968 412. 968
MR- W=150mm VAV m L=|412.968 412. 968
TR F N=|[155.883 | 1.540 | 2.300 [98.018 | 6.900 |158.027 422.668 | 422.668




(HliBh) B K EAROE L9 Lz RFIT LX)

MEFHHE  (DCIP-NS ¢ 100)
AR AR
3 Tk - i AL | B HEZED . , HEEV .
. . : 3 - Ko LR i ER
TER | Pwil | M2 | 35HR | Rres| s
DCIP-NS ¢ 100 155.883 | 0.440 98.018 | 0.600 |158.027 412.968 | 412.968
HIVP 650 1.100 | 2.300 6. 300 9.700 9.700
PE 625




(il Bh) B KB AR i T8 L2 NP R R TX)

B (DCIP-NS ¢ 100) 175

IR R
| g | P (FBCOEE S RN (FREN, TR s R | s | e || 9F (HECOEEBSMLR FREW, TRER s || s | e |
ACEIT - WD - FROUNT, B - ARONT, C:E), DO AR ML | i) NSO - ) - FRONT, B - FROADT, Ciibl, DU (N ML i)

g ZYVE Y ZY)E N WY | U | A+B A B+C D e U YV U N WY | U | A+B A B+C D

ool [ [T 1] 1] HEEEEEEREEEN

1 4. 00 1. 141 0.933 2.074 1.930 2 2
wla o[ [ [[ ] [1] ] HEEEEEEREEEN

2 4. 00 2.272 1. 035 3.307 0. 690 2 2
ool [ [[ ] 1] 1] HEEEEEEREEEN

3 4. 00 2.250 1. 000 3.250 0. 750 2 2
o [ [T 1] 1] HEEEEEEREEEN

4 4.00 3.237 3.237 0. 760 1 1
avfafon]a] | [ [ ] [ ] ] [] HEEEEEEEEEEE

5 4.00 1. 523 1. 700 3.223 0. 780 2 2
ol | [[] []] ] HEEEEEEEEEEE

6 4.00 2.453 1. 300 3.753 0. 250 2 2
aofn| [ [T 1] 1] HEEEEEEEEEEE

7 4.00 1. 983 1.983 2.020 1 1
wafo[s | [[ ] []] [] HEEEEEEEEEEE

8 4.00 3.000 1. 000 4. 000 2 2
i@l [ 1] 1] 1] T T[T 1]

9 4. 00 1. 523 1. 300 2.823 1. 180 2 2
HEEEEEEREEEE NI
HEEEEEEREEEE NI
HEEEEEEREEEE NI
RN HEREEEEEEEEEN
RN HEREEEEEEEEEN
RN HEREEEEEEEEEN
N EEEEE HEREEEEEEEEEN

7t 27. 650 8.360 | 16 16




(il Bh) B KB AR i T8 L2 NP R R TX)

B (DCIP-NS ¢ 100) 375

IR R
| g | P (FBCOEE S RN (FREN, TR s R | s | e || 9F (HECOEEBSMLR FREW, TRER s || s | e |
ACEIT - WD - FROUNT, B - ARONT, C:E), DO AR ML | i) NSO - ) - FRONT, B - FROADT, Ciibl, DU (N ML i)
g ZYVE Y ZY)E N WY | U | A+B A B+C D e U YV U N WY | U | A+B A B+C D
wla o[ [ [T 1] 1] HEEEEEEREEEN
1 4. 00 2.421 1. 268 3. 689 0.310 2 2
oo [T [T T1T] 1] HEEEEEEREEEN
2 4. 00 2.937 2.937 1. 060 1 1
oo [ [[ ] [1] [] HEEEEEEREEEN
3 4. 00 1. 000 2.589 3. 589 0.410 2 2
oo [T [T TT] 1] HEEEEEEREEEN
4 4.00 3.000 3. 000 1. 000 1 1
aw[a| [ [T 1] 1] HEEEEEEEEEEE
5 4.00 3.701 3.701 0. 300 1 1
afafoon] | [ ] []] [] HEEEEEEEEEEE
6 4.00 1. 085 2. 346 3.431 0.570 2 2
ol [T [T T 1] HEEEEEEEEEEE
7 4.00 3. 550 3. 550 0. 450 1 1
HEEEEEEEEEEE HEEEEEEEEEEE
HEEEEEEREEEE NI
HEEEEEEREEEE NI
HEEEEEEREEEE NI
HEEEEEEREEEE NI
RN HEREEEEEEEEEN
RN HEREEEEEEEEEN
RN HEREEEEEEEEEN
NN HEREEEEEEEEEN
7t 23. 897 4.100 | 10 10




(il Bh) B KB AR i T8 L2 NP R R TX)

B (DCIP-NS ¢ 100) 575+

725 Wi W%
o — LJJ%’? (I—F&QJ%%%/W*K%@(T‘E%}E@)TF&UJ%:E) | . Njﬁf %g Wy | e LJJ%: <I—£&QJ%§%/~..AMIE(T‘EZ;%>TE&QJ%?E) | . Niﬁf (?fﬁ Wy | e
Al - HEE) - R OONT, BHEED - MO, CiEY), DUl (AR AcGIlr - ¥EDD - SOOI, BEE) - RO, CoEbl, DMy BEHE R
) ZEE ZYE ZHE ZYE Y | U | A+B A B+C D FENE A LY o) LY FYE | 298 | AB A B+C D
ool [ T[] T[] [] HNEEEEEEEEEN
1 4.00 | 2.395 1.580 3.975 0.020 | 2 2
ofafwla] | [T T[] [] HNEEEEEEEEEN
2 4.00 | 2.731 1..000 3.731 0.270 | 2 2
of [T T[] TT] [] HNEEEEEEEEEN
3 4.00 | 3.000 3. 000 1.000 | 1 1
ol [TT T[] TT] [] HNEEEEEEEEEN
4 4.00 | 2.200 2. 200 1.800 | 1 1
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEE HEEEEEENEEEE
HEEEEEEEEEEE HEEEEEENEEEE
LI TP T[] en HEEEEEENEEEE
it 12. 906 3.090 6 6
LTI T T[] ]ex HEEEEEENEEEE
At 64. 453 15.550 | 32 32




(Rl ) B K AR T Lz NP RFHET TIX)

ZEEE

(DCIP-NS ¢ 75)

2 TEAk -~k HAL | HALR HE Y G e
- HE IR s LR
55
B IIAVEEERE NS 178 P 14
B ¢ 75X 4000 A |4.000 5 = 28 | 112.000
B IIAVEEERE NS 178 P 1A DE IS R
e e ¢ 75X 4000 m |4.000 4.98 = 18. 52 18.524
DE IS R
FN 2 = 6
B avERERE N7 P 14 I<hik
TRTEE ¢ 150X ¢ 75 ff |0.200 0. 200
P VERERE NS P
i A% ¢ 75X 45° ff |0. 400 2 = 3 1.200
B IpAvEEERE N7 P A
i 6 T5X22° 1/2 & |0.350 = 1 0. 350
P VERERE NS P A
e dTEX11° 1/4 ff 0. 350 = 1 0. 350
P VERERE NS P
i A% ¢ 75X5° 5/8 i |0.350 = 2 0. 700
BV NS P A
BT A THE| ¢ 15X ¢ 75 8 |0.550 0. 550
BV NS P A
kil ¢ 75 il [0.220 1 = 1 0. 220
BV N2
25 ¢ 75 @ |o0.027 3 = 7 0. 189
BV N2
fwLajys ¢ 75 i 1 = 7
VAR 77 NSi% ki
meayvs ®75 il 2 = 2
PCY” afv M T V6 ¢ 75X ¢ 50 &l = 1
P VERERE NS ESTTHEARES
ik P P ®75 &l
KiE 1 2
R xFvon 477 ¢ 50 m




ol 214 S _
G A AT T (L2 Pk AT T ) HREHEE (DCIP-NS ¢ 75)

25 B i
2 TR - ~Hik BT | B R FHE
- - Firm ER TR
45HNS 5451

PEIVH’ ¢ 50X 90°
PEAHY” ¢ 50
PEJ )y b ¢ 50
PVY" af/} $ 50X ¢ 20 1

NSJE7. 5K PN A 4
S LAY T b -uEE | ¢ 75 H 10.500 | N= 1 = 1 0. 500

NSJ7. 5K PN A A
)7 b - 8IS | ¢ 75 H|0.200 | N= 1 = 1 0. 200
PE 7.5K
527 b=t el FR | ¢ 50 &

7.5K
i )7 by-MEBIFR | ¢ 50 &
225 FrH
P R4k PE ¢ 50 X ¢ 25 B
B RLA KRS DCIP ¢ 75X ¢ 50 H
Sy 1Ak o b ¢ 50 #*
AN R ZE R IR ¢ 25 H

[EIESEES BERXE
KA 675 &l N= 1 = 1
[EIESEES

KR 2k ¢ 75 # N= 1 = 1

¢ 75
LB )2 H=0. Tm HH N= 1 = 1




ol 214 S _
G A AT T (L2 Pk AT T ) HREHEE (DCIP-NS ¢ 75)

A
PaN TEAR - ~HE BT | B R FHE
- - B JER JE£
45HNS 5451
675
HGIFA 977 H=0. 60m HH N= 1 = 1
¢ 50
HEFE 92 H=0. 60m e
¢ 50
ZERIRE IR H=0. 60m iz
HHRRTT W=50mm m L =|108.899 26. 084 = | 134.983
HRER AT Rk~ b W=150mm VAV m L = |108.899 26. 084 = | 134.983
SR Rt 134. 983
DCIP-NS 675 108. 899 26. 084 134. 983

PE ¢ 50




(il Bh) B KB AR i T8 L2 NP R R TX)

B4 FH3E (DCIP-NS ¢ 75) 4=

725 Wi W%
o — LJJ%’? (I—F&QJ%%%/W*K%@(T‘E%}E@)TF&UJ%:E) | . Njﬁf %g Wy | e LJJ%: <I—£&QJ%§%/~..AMIE(T‘EZ;%>TE&QJ%?E) | . Niﬁf (?fﬁ Wy | e
Al - HEE) - R OONT, BHEED - MO, CiEY), DUl (AR AcGIlr - ¥EDD - SOOI, BEE) - RO, CoEbl, DMy BEHE R
) ZEE ZYE ZHE ZYE Y | U | A+B A B+C D FENE A LY o) LY FYE | 298 | AB A B+C D
ol [T I TT] [] HNEEEEEEEEEN
1 4.00 | 3.200 3. 200 0.800 | 1 1
ol [T L] TT] [] HNEEEEEEEEEN
2 4.00 | 3.428 3. 428 0.570 | 1 1
ol [T L] T[] [] HNEEEEEEEEEN
3 4.00 | 3.500 3.500 0.500 | 1 1
o[rJolslafofo] | [ [[ [] HNEEEEEEEEEN
4 4.00 | 1.000 1.413 1. 000 3.413 0.590 | 3 2 1 1
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEE HEEEEEENEEEE
HEEEEEEEEEEE HEEEEEENEEEE
HEEEEEEEEEEE HEEEEEENEEEE
LI TP T[] en HEEEEEENEEEE
B 13. 541 2. 460 6 1 1




(il Bh) B KB AR i T8 L2 NP R R TX)

& #HE (DCIP-NS ¢ 75)

575 %

725 Wi W%
o — LJJ%’? (I—F&QJ%%%/JWMLLE’E(T‘E%;%)TF&UJ%E) | . Njﬁf %g Wy | e LJJ%: <I—£&QJ%§%/~..AMIE(T‘EZ;%>TE&QJ%?E) | . Niﬁf (?fﬁ Wy | e
Al - HEE) - R OONT, BHEED - MO, CiEY), DUl (AR AcGIlr - ¥EDD - SOOI, BEE) - RO, CoEbl, DMy BEHE R
) ZEE ZYE ZHE ZYE Y | U | A+B A B+C D FENE A LY o) LY FYE | 298 | AB A B+C D
ofafeff | T[] T[] [] HNEEEEEEEEEN
1 4.00 | 1.780 2.000 3.780 0.220 | 2 2
ol [TT [T TT] [] HNEEEEEEEEEN
2 4.00 | 1.203 1.203 2.800 | 1 1
EREEEEENEEEN HNEEEEEEEEEN
EREEEEENEEEN HNEEEEEEEEEN
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
EREEEEEEEEEN ENEEEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEN HEENEEEEEEE
HEEEEEEEEEEE HEEEEEENEEEE
HEEEEEEEEEEE HEEEEEENEEEE
LTI TP T [ e HEEEEEENEEEE
it 4.983 3.020 3 3
LTI TTP TT] [ ex HEEEEEENEEEE
At 18. 524 5. 480 9 8 1 1




(i Bh) B KB AT R T8 (L2 P R FRT LX)

25 S EH%
EAN TR - ik BT FE AR
Eds
AR | WA J7h | OISR | FEIT T
PR T ¢ 150 m | L= 59.060 | -0.550 | —0.500 | -0.560 | -0.280 | -0.594 56. 576
B | me
NSHETF T ¢ 150 0| N= 5 6 11
WIE R | i x| RO | M| RS | S150x 150 T 150X 75
NSHETF T ¢ 150 0| N= 10 4 1 4 1 2 1 23
SIE JrkE
NSHEF T ¢ 100 0| N= 1 1
BIGE Z150X75
NSHEF T ¢ 75 0| N= 1 1
NSHEF T ¢ 150 0| N= 2 2
L5Z2S KR | VCR V5
A=HEE T ¢ 150 0| N= 2 1 3
L5Z2S
FH=hviETE T ¢ 100 8]
Rt VT ¥
RRAETE T- ¢ 50 0| N= 1 1
O R | B
EEAE BT ¢ 150 H N= 4 4
Ik
PR O - IEEIIN T | ¢ 150 0 | N= 7 3 10
Ik
PRERAE LI T ¢ 150 n
Pk
NSk 100 T ¢ 150 0 | N= 7 3 10
HETFHIGF | #ETFHIRF
7779 fETF T ¢ 150 | N= 6 6
HIVPHEAS T ¢ 50 m | L= 1.700 1.70
VR X2
TSHETF T ¢ 50 n | N= 2 2




. _ Pal (DCIP-NS ¢ 150)
(FfiBh) B K B A A L Lz AR FIT LX)
EH%
g JEAK - ~HE B RHEGE: FE
Zif B3 J7h FCD
Ok iE ¢ 150 | N= 1 2 6
AWK E L ¢ 150 | N= 1 1
DCIP HITF
R KEITFEZRE T | ¢ 150X ¢ 150 | N= 3 3
¢ 150 ' yIA
iR E T H=1. 20m HAT | N= 4 4
¢ 150 9IA
O E T H=0. 6m HAT | N= 3 3
BT L ¢ 150 m | L= 59.060 59. 060
PR - L ¢ 150 m | L= 59.060 59. 060
BREAT ¢ 75 m
H KR T ¢ 150 m | L= 59.060 59. 060




M T | et
() BACE AT T8 (JL2 A A T T ) FEERE  (DCIP-RS ¢ 100)
25 S EH%
EAN TR - ik HA7 FE AR
Eds
A5 | AR5 | FEI T |7 s
PR T ¢ 100 m | L=1412.968 | -0.200 | -1.000 | -0.396 | -0.750 410. 622
B | me
NSHETF T ¢ 100 0| N= 81 20 101
B ZTFX2| TR TS| A VR e x| weamton| FTTS | LB EE
NSHETF T ¢ 100 0| N= 2 1 50 4 1 1 59
SIE SR %
NSHEF T ¢ 75 0| N= 1 1
NSHEF T ¢ 100 0| N= 4 4
L5Z2S KEEFF | VOIS
A=HEE T ¢ 100 0| N= 3 2 5
L5Z2S Ve
A=HEE T ¢ 75 0| N= 1 1
Fisk BER A
Mh=hvAE RS L 6175 0 | N= 2 2
Ve
RRAETE T- ¢ 50 0| N= 3 3
Ik
PR O - IEEIIN T | ¢ 100 0 | N= 32 32
IV R | BER e bkt
NSk T4 10 T ¢ 100 0 | N= 32 2 34
HETFH1GF| #EFHIRF
7I0y EF T ¢ 100 0 |N= 9 9
HEFHIGF
7I0y EF T ¢ 75 0 |N= 2 2
HIVP
HIVPEHEFH T ¢ 50 m | L= 9.70 9.70
PEE
B )af R T $25 m | L=
HIzpE" X2
TSHEF T ¢ 50 0 | N= 16 16




JrEatHE  (DCIP-NS ¢ 100
(HiiBh) BK AR T GLZNTER T TX) et HEE  ( ¢ 100)

25 S K%
EAN JEAk - ~HE HA7 FE AR
Eds
PEIVE" X 2| PV 25X ¢ 20| 43 1EFAY o b
PEAETF T ¢ 25 n
PV ¢ 25X ¢ 20
PEAETF T ¢ 20 n
ke
A UIAAE T T ¢ 50 H
ke
A LiAFAE T T ¢ 25 H
PEA 1=V T ¢ 50 8]
DCIPf}
oy KRR A T ¢ 100X ¢ 25 & T
DCIPfi
oy KRR A T ¢ 100X ¢ 50 & T
B4 i | Y7 b FCD
LAk iE T ¢ 100 B | N= 1 2 3 1 = 7
FCD
)P E T $75 B | N= 1 = 1
fial 4
)T E T ¢ 50 X%
fial 4
)T E T ¢ 25 X%
DCIP EITF
REARBITFEBRE T | ¢250X ¢ 100 P:S
DCTP BT
RERBITFERET | ¢ 150X ¢ 100 P:S
DCTP BT
A KEITFERE T | 100X ¢ 100 % | N= 3 = 3
¢ 75
)T E T H=0. 60m BT | N= 1 = 1
¢ 100
) Fp ek E T H=0. 60m BT | N= 3 = 3




LA | Ak _
\ B TSR (DCIP-NS ¢ 100)
CRB) B ARG AT AR T Lz PR FHT T.X) R
PAL | EH%
g R - Sk B FHE FE
¢ 100
o Fp R E L H=1. 20m & | N= 4 = 4
HHIE X 2
BERR S GIIT T ¢ 100 0 |N= 6 = 6
BhERE
BT L ¢ 100 m | L=]412.968 = | 412.968
BhERE
PR - L ¢ 100 L = |412. 968 = | 412.968
JE KGR T ¢ 100 L = |412.968 = | 412.968




(i Bh) B KB AT R T8 (L2 P R FRT LX)

(DCIP-NS ¢ 75)

25 S EH%
EAN JEAk - ~HE HA7 FE AR
Eds
SR | FZ A
PR T ®75 m | L=1134.983 | -0.500 | —0.200 = | 134.283
B | me
NSHETF T ¢ 75 0| N= 28 6 = 34
B M | RIS | maitog <2
NSHETF T ¢ 75 0| N= 7 1 2 = 10
NSHEF T ¢ 75 0| N= 2 = 2
ik KEEF |PCY” 47}
A=HEE T ¢ 75 0| N= 1 1 = 2
RSt
RRAETF T ¢ 75 n
RG] PCY" 247b
RRAETF T ¢ 50 0| N= 1 = 1
B
EEE BT T ¢ 75 0 | N= 1 = 1
Ik
PREKEF I IEEIINT. | ¢ 75 0 | N= 8 = 8
Ik
RS THED N T ¢ 75 0 | N= 1 = 1
Ik
NSk T4 10 T 675 0 | N= 9 = 9
PEE
EESAZ= 2 E ¢ 50 m
PEZVE X 2| PEVFy b X 2| PV X b 20| 43 1o b
PEfFT. ¢ 50 8]
ke
A CIAZETF T ¢ 50 H
PEAI=h vk T T 675 ]
PEAI=R Vi T ¢ 50 [u]




FHEIEE (DCIP-NS ¢ 75)

(7 Bh) B KA A gk L2 (L2 N R TFHT LX)
25 S AL
EAN JEAk - ~HE HA7 FHH AR
e
PEA ZERI
FI vy KRR A T $ 50X ¢ 25 T AT
DCIP
FI vy KRR A T & 75X ¢ 50 T AT
ZER I RRE T $25 %
ZiH [E4
FEBFR R E T ¢ 75 | N= 1 1 = 2
PE R
)T iE T $ 50
¢ 75 wysr
I f R E T H=0. 70m HET | N= 1 = 1
¢ 75 " ysr
I f R E T H=0. 60m HET | N= 1 = 1
¢ 50 " ysr
)k E T H=0. 60m & T
¢ 50 wysr
ZER P ERBRE T H=0. 60m & T
A X 2
WER Bk By 1 $ 75 H | N= 2 = 2
BRI ¢ 75 m | L= 134.98 = 134. 98
Ry~ T ¢ 75 m | L= 134.98 = 134. 98
JEKERER T ¢ 75 m | L= 134.98 = 134. 98
%
JHKEER T ¢ 50 m




(i Bh) Bl AR E AT R T3 Lz NP R FRHT LX)

+ITEHBEE0)  (DCIP-NS ¢ 150)
AL AL
2 2N RS HLAT FHERX ) B
ST T As 15emPL T m | L= 132.46 = 132. 46
= VASRIGITE VASRE e
S G ek Jn B B (FEHETE) t | G=| 132.46 |/240 *1.53  |*1.1 = 0.93
SRR T As m? | A=| 47.47 = 47.47
SRRy T As m® | V= 3.30 = 3.30
EhERRALSY T Co m’
FE AR 1 T m® | V=| 41.75 = 41.75
AT H m’
MR T 17 m® | V=] 12.48 = 12.48
MR T o) m® | V=] 27.81 = 27.81
MR T sz m?
AT T m’ | V=| 41.75 = 41.75
REIRT (2/@) FAERIEEAs (13)  t=bem m® | A=| 18.29 = 18.29
REIRT (2/@) FAHLEIEEAS (200 t=Bem 2 A= 18.29 = 18.29
IR T FAERIEAs (13)  t=bem A= 29.18 = 29. 18
0% B R A H=2. 00m
TRT XERAE 1B L= 4. 60 = 4.60




T kk%Z DCIP-NS ¢ 150
G B AR T (AL PP AT T <) ETEAH@ ¢ 150)

IR T | SRR | AREMULA T | HORSHIT Al WRET ) | WETER | MELGOILD | RAbasT e T (I T LR
&5 Al PTIEE wm | gl | BOR | BOR | BUCE| BOR | WACE | SR | BUACE | BOR | BUCE | BOR | WOCE | MR | NACE | MR | WGCE | BOR [ WOCR | BOR | RACR| R W] R
wn | O e @ | ew| @ || 6 (e @ e 6 || 6 e @) || @ || @ e @ | em | w
H=0. 70m t=0. 10
D1-1 [EE  As 16.95 | 2. 000 33.90 | 0.700 11.86 | 0.070 1.19 | 0.538 9.12 0. 166 2.81 | 0.350 5.93 0.538 9.12 0. 700 11. 86
H=1. 20m t=0. 10
D1-2 [EE  As 6.04 | 2.000 12.08 | 0.700 4.23 | 0.070 0.42 | 0.888 5.36 0. 166 1.00 | 0.700 4.23 0. 888 5. 36 0. 700 4.23
H=1. 20m t=0. 10
b2-1 [EE  As 2.20 | 2.000 4.40 | 1. 000 2.20 | 0.100 0.22 | 1. 569 3.45 0. 547 1.20 | 1. 000 2.20 1. 569 3.45 1. 000 2.20 | 1.000 2.20
H=0. 60m t=0. 05
D1-1 il As 36.21 | 2.000 72.41 | 0.700 25.34 | 0.035 1.27 | 0.503 18.21 0. 166 6.01 | 0.315 11.41 0.503 18. 21 0. 700 25. 34
H=1. 20m t=0. 05
D1-2 il As 2.43 | 2.000 4.87 | 0.700 1.70 | 0.035 0.09 | 0.923 2.25 0. 166 0.40 | 0.735 1.79 0.923 2.25 0. 700 1.70
H=1. 20m t=0. 05
D2-1 il As 1.10 | 2. 000 2.20 | 1. 000 1.10 | 0.050 0.06 | 1.619 1.78 0. 547 0.60 | 1.050 1. 16 1.619 1.78 1. 000 1.10 | 1.000 1. 10
H=1. 20m t=0. 05
D2-2 il As 1.30 | 2.000 2.60 | 0.800 1.04 | 0.040 0.05 | 1.215 1.58 0. 353 0.46 | 0.840 1. 09 1.215 1.58 0. 800 1.04 | 1.000 1. 30
. Co Co Co t=0. 10 18.29
" 66.23 |As 132.46 |As 47.47 |As 3.30 41.75 12. 48 27.81 41.75 t=0. 05 29. 18 4. 60




T4k %Hﬁ% DCIP-NS ¢ 150
BN BB T (L2 Nk I T ) ETERFRE ¢ 150)

F I R - R BT FHER
Kk

H=0. 70m 25 2-1%

DI-1 EiE  As DCIP-NS ¢ 150 m | L=| 10.08 6. 86 = 16. 95
H=1. 20m 24 25 8 |2-1%

D1-2 EiE  As DCIP-NS ¢ 150 m | L=| 165 1. 50 2.89 = 6. 04
H=1. 20m 25T 21T

D2-1 EiE  As DCIP-NS ¢ 150 m | L=| 110 1.10 = 2.20
H=0. 60m 25

DI-1 Wil As DCIP-NS ¢ 150 m | L=| 36.21 = 36. 21
H=1. 20m 25 25 A

D1-2 Wil As DCIP-NS ¢ 150 m |L=| 0.93 1. 50 = 2. 43
H=1. 20m 28 TF

D2-1 Wil As DCIP-NS ¢ 150 m |L=| L10 = 1.10
H=1. 20m 25 Abyn =

D2-2 iE  As DCIP-NS ¢ 150 m L= 1.30 = 1.30




(i Bh) Bl AR E AT R T3 Lz NP R FRET LX)

AL+ TR

(DCIP-NS ¢ 150)

T T HER
5 o o ER wHME T#Y EHIE | FTEAE| R TEHIE | BEWREIR | AR | BIns R | STEE | SR BRSO | EIRE | BRE | R | Rea R
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)

H=0. 70m

DI-1 [EE  As DCIP-NS 150 0. 169 0. 700 0. 700 0. 869 0. 769 0. 100 0. 100 0. 269 0. 022 0. 100 0. 500
H=1. 20m

D1-2 [EE  As DCIP-NS 150 0. 169 1. 200 0. 700 1. 369 1. 269 0. 100 0. 100 0. 269 0. 022 0. 100 1. 000
H=1. 20m

D2-1 [EE  As DCIP-NS 150 0. 169 1. 200 1. 000 0. 300 1. 669 1. 569 0. 100 0. 100 0. 569 0. 022 0. 100 1. 000
H=0. 60m

DI-1 il As DCIP-NS 150 0. 169 0. 600 0. 700 0. 769 0.719 0. 050 0. 100 0. 269 0. 022 0. 050 0. 450
H=1. 20m

D1-2 il As DCIP-NS 150 0. 169 1. 200 0. 700 1. 369 1.319 0. 050 0. 100 0. 269 0. 022 0. 050 1. 050
H=1. 20m

D2-1 il As DCIP-NS 150 0. 169 1. 200 1. 000 0. 300 1. 669 1.619 0. 050 0. 100 0. 569 0. 022 0. 050 1. 050
H=1. 20m

D2-2 il As DCIP-NS 150 0. 169 1. 200 0. 800 0. 200 1. 569 1.519 0. 050 0. 100 0. 469 0. 022 0. 050 1. 050

MBI EHLE IR A VbR
Im% Y o+ THE
=5 a5 . e THk0 JEHIE | SEAEUIMT | BRAGRRGRE | BRELRULSY | BERRAEEI | ADIEE | HRR () | HRERE (Ren) MR GER L) | BAE LS| BT AR +HET
(mm) (m) (m) (m) (n®) (") (n®) (") (n®) (") (n®) (") (”) (”) (m)

H=0. 70m Al

D1-1 [EE  As DCIP-NS 150 0. 700 0. 700 2. 000 0. 700 0.070 0.538 0. 166 0. 350 0.538 0. 700
H=1. 20m Al

D1-2 [EE  As DCIP-NS 150 1. 200 0. 700 2. 000 0. 700 0.070 0. 888 0. 166 0. 700 0. 888 0. 700
H=1. 20m Al

D2-1 [EE As DCIP-NS 150 1. 200 1. 000 2. 000 1. 000 0. 100 1. 569 0. 547 1. 000 1. 569 1. 000 1. 000
H=0. 60m [Cogil]

D1-1 MiE  As DCIP-NS 150 0. 600 0. 700 2. 000 0. 700 0. 035 0.503 0. 166 0.315 0.503 0. 700
H=1. 20m [Cogil]

D1-2 WE  As DCIP-NS 150 1. 200 0. 700 2. 000 0. 700 0. 035 0.923 0. 166 0.735 0.923 0. 700
H=1. 20m [ogil]

D2-1 WE  As DCIP-NS 150 1. 200 1. 000 2. 000 1. 000 0. 050 1. 619 0. 547 1. 050 1.619 1. 000 1. 000
H=1. 20m [ogil]

D2-2 WE  As DCIP-NS 150 1. 200 0. 800 2. 000 0. 800 0. 040 1.215 0. 353 0. 840 1.215 0. 800 1. 000




(i Bh) Bl AR E AT R T3 Lz NP R FRHT LX)

+TEHBEE0)  (DCIP-NS ¢ 100)
AL AL
2 2N RS HLAT 2 ‘ By
/e g5
ST T As 15emPd T m | L= 835.86 = 835. 86
= VASRIGITE VASRE e
S G ek Jn B B (FEHETE) t | V=] 835.86 |/240 *1.53  |*1.1 = 5.86
SRR T As m? | A= 271.98 = 271.98
SRRy T As m® | V=] 18.10 = 18.10
FE AR I T m® | V= 202.65 = 202. 65
AT H m®
HEMRRE T W m® | V=] b55.32 = 55. 32
MR T o) m® | V= 142.96 = 142. 96
MR T Wi m?
FerE ALY T m® | V=1 202.65 = 202. 65
REINT (2/8) PRI (200 t=5em m? | A= 121.36 = 121. 36
REIRT (2/@) PRI EEAS (200 t=Bem m® | A=| 121.36 = 121. 36
IR T FESRIEAs(13)  t=3cm m® | A=| 83.96 = 83.96
IR T FAERIEAs (13)  t=bem m? | A=| 66.66 = 66. 66
0% B R A H=2. 00m
TR XERAE 1B m | L= 2.10 = 2.10




(B BLAR AT T8 Lz VE R TFHT TIX)

+TEEEQ)

(DCIP-NS ¢ 100)

IR T | SRR | AREMULA T | HORSHIT Al WRET ) | WETER | MELGOILD | RAbasT e T (I T LR
&5 Al ETEE | g WO | SR | AR | MR | WGCE | BOR | BOCR | BOR | BUCR| BUR | WGCE | SR | BUCE | BOR | BUCE | BOR | WOCR| SR | WACR| MR | W | R
wn | @ e @ |emw] 6 6w @ | 6w @ e e | ew] 6 e @) @] @ || @ e e | e | @
H=0. 70m t=0. 10
Cl-1 [EE  As 175.94 | 2. 000 351.88 | 0.650 114.36 | 0. 065 11.44 | 0.467 82.16 0. 131 23.05 | 0.325 57.18 0. 467 82. 16 0. 650 114. 36
H=1. 20m t=0. 10
C1-2 [EE  As 8.18 | 2.000 16.36 | 0.650 5.32 | 0.065 0.53 | 0.792 6. 48 0. 131 1.07 | 0.650 5.32 0.792 6. 48 0. 650 5.32
H=1. 20m t=0. 10
c2-1 [EE As 2.10 | 2. 000 4.20 | 0.800 1.68 | 0.080 0.17 | 1.214 2.55 0.403 0.85 | 0.800 1.68 1.214 2.55 0. 800 1.68 | 1.000 2.10
H=0. 60m t=0. 03
Cl-1 AR B ASHEUE 109.61 | 2. 000 219.22 | 0.650 71.25 | 0.020 2.19 | 0.447 49. 00 0. 131 14. 36 | 0. 306 33.54 0. 447 49. 00 0. 650 71.25
H=0. 60m t=0. 05
Cl-1 A EASTEAN 29.07 | 2.000 58.14 | 0.650 18.90 | 0.033 0.96 | 0.434 12.62 0. 131 3.81 | 0.293 8.52 0.434 12. 62 0. 650 18.90
H=0. 60m t=0. 05
Cl-1 il As 69.41 | 2.000 138.82 | 0.650 45.12 | 0.033 2.29 | 0.434 30. 12 0. 131 9.09 | 0.293 20. 34 0.434 30. 12 0. 650 45.12
H=1. 20m t=0. 05
Cl1-2 il As 4.06 | 2.000 8.12 | 0.650 2.64 | 0.033 0.13 | 0.824 3.35 0. 131 0.53 | 0.683 2.77 0.824 3.35 0. 650 2.64
H=1. 20m t=0. 03
Cl-1 HE AR 0. 650 0.798 0. 131 0. 696 0.798 0. 650
H=1. 20m t=0. 03
F2-1 HE AR 0. 900 1.244 0.277 1. 323 1.244 0. 900 1. 000
H=1. 20m t=0. 03
Cl1-2 AR B AsEUE 19.56 | 2.000 39.12 | 0.650 12.71 | 0.020 0.39 | 0.837 16. 37 0. 131 2.56 | 0.696 13.61 0.837 16. 37 0. 650 12. 71
t=0. 10| 121. 36
. RS ES t=0. 03 83. 96
" 417.93 |As 835.86 |As 271.98 |As 18. 10 202. 65 55. 32 142. 96 202. 65 t=0. 05 66. 66 2.10




(i Bh) Bl K EARE TF Gz N RFET TX)

T TR R E

(DCIP-NS ¢ 100)

F I R - R BT FHER AR
Kk s

H=0. 70m 15 15 3% 5%

Cl-1 EE  As DCIP-NS ¢ 100 m 6. 62 6.24 7.87 | 155.21 175. 94
H=1. 20m 15 15 AhiE 5%

C1-2 EE  As DCIP-NS ¢ 100 m 3.96 1. 50 2.72 8. 18
H=1. 20m 15T |35 TF |55 TF

c2-1 EE  As DCIP-NS ¢ 100 m 0.70 0.70 0.70 2.10
H=0. 60m 15 1% 15 15 15

C1-1 HrE ASHE HE DCIP-NS ¢ 100 m 21.44 | 26.15 | 21.31 | 12.77 | 27.94 109. 61
H=0. 60m 15 15 175

Cl-1 HRBAsTEA DCIP-NS ¢ 100 m 6.92 6.11 | 16.04 29. 07
H=0. 60m 35

Cl-1 Wil As DCIP-NS ¢ 100 m 69. 41 69. 41
H=1. 20m 35 35 AhiE

C1-2 Wil As DCIP-NS ¢ 100 m 2.56 1. 50 4.06
H=1. 20m

C1-1 HE AR DCIP-NS ¢ 100
H=1. 20m

F2-1 HE - R DCIP-NS ¢ 250
H=1. 20m 575 AlE |35

C1-2 HREASKEY DCIP-NS ¢ 100 m 1.50 | 18.06 19. 56




(i Bh) Bl AR E AT R T3 Lz NP R FRET LX)

AL+ TR

(DCTP-NS ¢ 100)

T T HER
5 o o ER wHME T#Y EHIE | FTEAE| R TEHIE | BEWREIR | AR | BIns R | STEE | SR BRSO | EIRE | BRE | R | Rea R
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)

H=0. 70m

Cl-1 [EE  As DCIP-NS 100 0.118 0. 700 0. 650 0.818 0.718 0. 100 0. 100 0.218 0.011 0. 100 0. 500
H=1. 20m

Cl-2 [EE  As DCIP-NS 100 0.118 1. 200 0. 650 1. 318 1.218 0. 100 0. 100 0.218 0.011 0. 100 1. 000
H=1. 20m

c2-1 [EE  As DCIP-NS 100 0.118 1. 200 0. 800 0. 300 1.618 1.518 0. 100 0. 100 0.518 0.011 0. 100 1. 000
H=0. 60m

Cl-1 A EAsHEHE|  DCIP-NS 100 0.118 0. 600 0. 650 0.718 0. 688 0. 030 0. 100 0.218 0.011 0. 030 0.470
H=0. 60m

Cl-1 A iEAsF A | DCIP-NS 100 0.118 0. 600 0. 650 0.718 0. 668 0. 050 0. 100 0.218 0.011 0. 050 0. 450
H=0. 60m

Cl-1 il As DCIP-NS 100 0.118 0. 600 0. 650 0.718 0. 668 0. 050 0. 100 0.218 0.011 0. 050 0. 450
H=1. 20m

Cl1-2 il As DCIP-NS 100 0.118 1. 200 0. 650 1.318 1. 268 0. 050 0. 100 0.218 0.011 0. 050 1. 050

MBI EHLE IR A VbR
Im% Y o+ THE
=5 a5 . e THk0 JEHIE | SEAEUIMT | BRAGRRGRE | BRELRULSY | BERRAEEI | ADIEE | HRR () | HRERE (Ren) MR GER L) | BAE LS| BT AR +HET
(mm) (m) (m) (m) (n®) (") (n®) (") (n®) (") (n®) (") (”) (”) (m)

H=0. 70m Al

Cl-1 [EE  As DCIP-NS 100 0. 700 0. 650 2. 000 0. 650 0. 065 0. 467 0. 131 0.325 0. 467 0. 650
H=1. 20m Al

Cl1-2 [EE  As DCIP-NS 100 1. 200 0. 650 2. 000 0. 650 0. 065 0.792 0. 131 0. 650 0.792 0. 650
H=1. 20m Al

C2-1 [EE As DCIP-NS 100 1. 200 0. 800 2. 000 0. 800 0. 080 1.214 0. 403 0. 800 1.214 0. 800 1. 000
H=0. 60m [Cogil]

Cl-1 HEASHEHE|  DCIP-NS 100 0. 600 0. 650 2. 000 0. 650 0. 020 0. 447 0. 131 0. 306 0. 447 0. 650
H=0. 60m [Cogil]

Cl-1 HEAsTEA| DCIP-NS 100 0. 600 0. 650 2. 000 0. 650 0.033 0.434 0.131 0. 293 0.434 0. 650
H=0. 60m Al

Cl-1 WE  As DCIP-NS 100 0. 600 0. 650 2. 000 0. 650 0.033 0.434 0.131 0. 293 0.434 0. 650
H=1. 20m [ogil]

Cl-2 MiE  As DCIP-NS 100 1. 200 0. 650 2. 000 0. 650 0.033 0. 824 0.131 0. 683 0. 824 0. 650




NS, -
CHBE) AT AR T4 (AL T KT 1) BT ELEFE  (DCIPNS ¢ 100)
T TSEE
. - o, B EoME T#Y PHIE | FTEATE | R RAITE | AR I | AN D BRI | Bl s | S TEE XN R A IRE PR B MR | Rem R
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=1. 20m
Cl-1 |#5E 43| DCIP-NS 100 0.118 1.200 0. 650 1.318 1.228 0. 090 0. 100 0.218 0.011 0.030 1.070
H=1. 20m
F2-1 | 458  A&3E| DCIP-NS 250 0.272 1.200 0. 900 0. 400 1.872 1.382 0. 090 0. 100 0.372 0.058 0.030 1.470
H=1. 20m
Cl-2  |EAskEHE| DCIP-NS 100 0.118 1.200 0. 650 1.318 1.288 0.030 0. 100 0.218 0.011 0.030 1.070
SCH IS A bR
¥4 0 o+ T E
5 - i B 40 bl EAEUIET | AAERRARR | SREERRAL Sy | FERRERE] | AJDHEAI | MR () | HER () [HR GEA D) | A LAy | BT [SG A +THET
(mm) (m) (m) (m) (m%) (") (m®) (") (m®) (m") () (m’) (m®) (m®) (m)
H=1. 20m
Cl-1 |/ 7| DCIP-NS 100 1.200 0. 650 0. 650 0.798 0.131 0. 696 0.798 0. 650
H=1. 20m
Fo-1 |45 f8E| DCIP-NS 250 1.200 0. 900 0. 900 1. 244 0.277 1.323 1. 244 0. 900 1.000
H=1. 20m Il
Cl-2  |#EAstE#E| DCIP-NS 100 1. 200 0. 650 2.000 0. 650 0.020 0.837 0.131 0. 696 0. 837 0. 650




(i Bh) Bl AR E AT R T3 Lz NP R FRHT LX)

T TEHEZEN)  (DCIP-NS ¢ 75)
AL AL
2 2N RS HLAT FE ) FHEX
ST T As 15emPL T m | L= 29418 = 294. 18
i T/ H PR
S G ek Jn B B (FEHETE) t | G=| 294.18 |/240 x1.1 = 2.06
SRR T As m? | A=| 87.62 = 87. 62
SRRy T As m® | V= 5.13 = 5.13
EhERRALSY T Co m’
FE AR 1 T m® | V=] 58.79 = 58.79
HEMRRE T W m® | V=| 15.77 = 15.77
MR T et m® | V=] 42.05 = 42.05
MR T Wi m?
AT T m’ | V=| 58.79 = 58.79
REIBL (2/@) FAERIEAs (13)  t=5em m? | A=]| 22.16 = 22. 16
REIRT (2/@) PRI EEAS (200 t=Bem m’ | A=| 22.16 = 22.16
IR T FESRIEAs(13)  t=3cm m® | A=| 18.10 = 18. 10
IR T FAERIEAs (13)  t=bem m? | A=| 47.36 = 47. 36
0% B AR H=2. 00m
+EIT XERAE 1B m




TE Hﬁ%Z DCIP-NS ¢ 75
G B AR T (AL PP AT T <) ETHAE#Q@ 075)

IR T | SRR | AREMULA T | HORSHIT Al WRET ) | WETER | MELGOILD | RAbasT e T (I T LR
&5 Al ETEE | g WO | SR | AR | MR | WGCE | BOR | BOCR | BOR | BUCR| BUR | WGCE | SR | BUCE | BOR | BUCE | BOR | WOCR| SR | WACR| MR | W | R
wn | O e @ | ew| @ || 6 (e @ e 6 || 6 e @) || @ || @ e @ | em | w
H=0. 70m t=0. 10
B1-1 [EE  As 31.18 | 2.000 62.36 | 0.600 18.71 | 0. 060 1.87 | 0.416 12.97 0. 109 3.40 | 0.300 9.35 0.416 12.97 0. 600 18. 71
H=1. 20m t=0. 10
B1-2 [EE  As 1.50 | 2.000 3.00 | 0.600 0.90 | 0.060 0.09 | 0.716 1. 07 0.109 0.16 | 0.600 0.90 0.716 1. 07 0. 600 0. 90
H=0. 70m t=0. 10
Al-1 [EE  As 2.30 | 2.000 4.60 | 0.500 1.15 | 0. 050 0.12 | 0.330 0.76 0.077 0.18 | 0.250 0.58 0. 330 0.76 0. 500 1. 15
H=1. 20m t=0. 10
Al-2 [EE  As 2.80 | 2.000 5.60 | 0.500 1.40 | 0.050 0.14 | 0.580 1.62 0.077 0.22 | 0.500 1. 40 0. 580 1. 62 0. 500 1. 40
H=0. 60m t=0. 03
B1-1 AR B ASHEUE 26.30 | 2.000 52.60 | 0.600 15.78 | 0.018 0.47 | 0.398 10. 47 0. 109 2.87 | 0.282 7.42 0. 398 10. 47 0. 600 15. 78
H=0. 90m t=0. 03
B1-2 AR B ASIEUE 2. 000 0. 600 0.018 0.578 0. 109 0. 462 0.578 0. 600
H=1. 20m t=0. 03
B1-3 AR B ASHEUE 2. 000 0. 600 0.018 0. 758 0. 109 0. 642 0. 758 0. 600
H=0. 60m t=0. 03
Al-1 AR B AsEUE 4.64 | 2.000 9.28 | 0.500 2.32 | 0.015 0.07 | 0.315 1.46 0.077 0.36 | 0.235 1. 09 0.315 1. 46 0. 500 2.32
H=0. 60m t=0. 05
Al-1 HEASTEAN 2. 000 0. 500 0. 025 0. 305 0.077 0.225 0. 305 0. 500
H=0. 60m t=0. 05
B1-1 il As 77.52 | 2.000 155.04 | 0.600 46.51 | 0.030 2.33 | 0.386 29.92 0. 109 8.45 | 0.270 20.93 0. 386 29.92 0. 600 46.51
H=1. 20m t=0. 05
B1-2 il As 1. 000 0. 600 0. 030 0. 746 0. 109 0. 630 0. 746 0. 600
H=0. 60m t=0. 05
Al-1 il As 1.70 | 1.000 1.70 | 0.500 0.85 | 0.025 0.04 | 0.305 0.52 0.077 0.13 | 0.225 0.38 0. 305 0.52 0. 500 0.85
H=1.20m t=0. 05
Al-2 il As 1. 000 0. 500 0. 025 0. 605 0.077 0.525 0. 605 0. 500
t=0. 10 22. 16
. Co Co Co t=0. 03 18. 10
" 147.94 |As 294. 18 |As 87.62 |As 5.13 58.79 15.77 42. 05 58.79 t=0. 05 47. 36




(i Bh) Bl K EARE TF Gz N RFET TX)

AtREE

(DCIP-NS ¢ 75)

F I R - R
Kk

H=0. 70m 45 55

Bl-1 EE  As DCIP-NS 675 5.10 | 26.08 31.18
H=1. 20m A5 Fhi

B1-2 EE  As DCIP-NS 675 1. 50 1. 50
H=0. 70m 2%

Al-1 EE  As PE ¢ 50 2.30 2.30
H=1. 20m (]

Al-2 EE As PE ¢ 50 2.80 2. 80
H=0. 60m 45

B1-1 HrE ASHE HE DCIP-NS 0175 26. 30 26. 30
H=0. 90m

B1-2 HrE AsHE HE DCIP-NS ¢ 75
H=1. 20m

B1-3 HrE ASHE HE DCIP-NS ¢ 75
H=0. 60m (] (221

Al-1 HrE ASHE HE PE ¢ 50 3.40 1.24 4.64
H=0. 60m

Al-1 HREAs A PE ¢ 50
H=0. 60m 4%

Bl-1 il As DCIP-NS ® 75 77.52 77.52
H=1. 20m

B1-2 HiE As DCIP-NS ® 75
1=0. 60m Muss

Al-1 M As PE ¢ 50 1.70 1.70
H=1. 20m

A1-2 il As PE ¢ 50




BN TR E

(DCIP-NS ¢ 75)

(RfiBh) Bl /K AR L Lz NPERFHT LX)
T T HER
5 o o ER wHME T#Y EHIE | FTEAE| R TEHIE | BEWREIR | AR | BIns R | STEE | SR BRSO | EIRE | BRE | R | Rea R
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=0. 70m
Bl-1 [EE  As DCIP-NS 75 0. 093 0. 700 0. 600 0.793 0.693 0. 100 0. 100 0. 193 0. 007 0. 100 0. 500
H=1. 20m
B1-2 [EE  As DCIP-NS 75 0. 093 1. 200 0. 600 1.293 1. 193 0. 100 0. 100 0. 193 0. 007 0. 100 1. 000
H=0. 70m
Al-1 [EE  As PE 50 0. 060 0. 700 0. 500 0. 760 0. 660 0. 100 0. 100 0. 160 0. 003 0. 100 0. 500
H=1. 20m
Al-2 [EE As PE 50 0. 060 1. 200 0. 500 1. 260 1. 160 0. 100 0. 100 0. 160 0. 003 0. 100 1. 000
H=0. 60m
Bl-1 A EAsHEHE|  DCIP-NS 75 0. 093 0. 600 0. 600 0. 693 0. 663 0. 030 0. 100 0. 193 0. 007 0. 030 0.470
H=0. 90m
B1-2 A EAsHEHE|  DCIP-NS 75 0.093 0. 900 0. 600 0.993 0.963 0. 030 0. 100 0. 193 0. 007 0. 030 0.770
H=1. 20m
B1-3 A EAsHEHE|  DCIP-NS 75 0.093 1. 200 0. 600 1.293 1.263 0. 030 0. 100 0. 193 0. 007 0. 030 1. 070
MBI EHLE IR A VbR
Im% Y o+ THE
=5 a5 . e THk0 JEHIE | SEAEUIMT | BRAGRRGRE | BRELRULSY | BERRAEEI | ADIEE | HRR () | HRERE (Ren) MR GER L) | BAE LS| BT AR +HET
(mm) (m) (m) (m) (n®) (") (n®) (") (n®) (") (n®) (") (”) (”) (m)
H=0. 70m Al
Bl-1 [EE  As DCIP-NS 75 0. 700 0. 600 2. 000 0. 600 0. 060 0.416 0. 109 0. 300 0.416 0. 600
H=1. 20m Al
B1-2 [EE  As DCIP-NS 75 1. 200 0. 600 2. 000 0. 600 0. 060 0.716 0. 109 0. 600 0.716 0. 600
H=0. 70m Al
Al-1 [EE As PE 50 0. 700 0. 500 2. 000 0. 500 0. 050 0. 330 0.077 0. 250 0. 330 0. 500
H=1. 20m [Cogil]
Al-2 [EE As PE 50 1. 200 0. 500 2. 000 0. 500 0. 050 0. 580 0.077 0. 500 0. 580 0. 500
H=0. 60m [Cogil]
B1-1 HEASHEHE|  DCIP-NS 75 0. 600 0. 600 2. 000 0. 600 0.018 0. 398 0. 109 0. 282 0. 398 0. 600
H=0. 90m Al
B1-2 HEASHEHE|  DCIP-NS 75 0. 900 0. 600 2. 000 0. 600 0.018 0.578 0. 109 0. 462 0.578 0. 600
H=1. 20m [ogil]
B1-3 AEASHEHE|  DCIP-NS 75 1. 200 0. 600 2. 000 0. 600 0.018 0. 758 0. 109 0. 642 0. 758 0. 600




BN TR E

(DCIP-NS ¢ 75)

(RfiBh) Bl /K AR L Lz NPERFHT LX)
T T HER
5 o o ER wHME T#Y EHIE | FTEAE| R TEHIE | BEWREIR | AR | BIns R | STEE | SR BRSO | EIRE | BRE | R | Rea R
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=0. 60m
Al-1 B ASTEUE PE 50 0. 060 0. 600 0. 500 0. 660 0.630 0. 030 0. 100 0. 160 0. 003 0. 030 0.470
H=0. 60m
Al-1 HiEAsTA PE 50 0. 060 0. 600 0. 500 0. 660 0.610 0. 050 0. 100 0. 160 0. 003 0. 050 0. 450
H=0. 60m
Bl-1 i As DCIP-NS 75 0. 093 0. 600 0. 600 0. 693 0. 643 0. 050 0. 100 0. 193 0. 007 0. 050 0. 450
H=1. 20m
B1-2 il As DCIP-NS 75 0. 093 1. 200 0. 600 1.293 1. 243 0. 050 0. 100 0. 193 0. 007 0. 050 1. 050
H=0. 60m
Al-1 il As PE 50 0. 060 0. 600 0. 500 0. 660 0.610 0. 050 0. 100 0. 160 0. 003 0. 050 0. 450
H=1. 20m
Al-2 il As PE 50 0. 060 1. 200 0. 500 1. 260 1.210 0. 050 0. 100 0. 160 0. 003 0. 050 1. 050
MBI EHLE IR A VbR
Im% Y o+ THE
=5 a5 . e THk0 JEHIE | SEAEUIMT | BRAGRRGRE | BRELRULSY | BERRAEEI | ADIEE | HRR () | HRERE (Ren) MR GER L) | BAE LS| BT AR +HET
(mm) (m) (m) (m) (n®) (") (n®) (") (n®) (") (n®) (") (”) (”) (m)
H=0. 60m Al
Al-1 HREASHE UE PE 50 0. 600 0. 500 2. 000 0. 500 0.015 0.315 0.077 0. 235 0.315 0. 500
H=0. 60m Al
Al-1 AEAsTEAN PE 50 0. 600 0. 500 2. 000 0. 500 0. 025 0. 305 0.077 0. 225 0. 305 0. 500
H=0. 60m Al
B1-1 MiE  As DCIP-NS 75 0. 600 0. 600 2. 000 0. 600 0. 030 0. 386 0. 109 0. 270 0. 386 0. 600
H=1. 20m agLl
B1-2 miE  As DCIP-NS 75 1. 200 0. 600 1. 000 0. 600 0. 030 0. 746 0. 109 0. 630 0. 746 0. 600
H=0. 60m agLl
Al-1 MiE  As PE 50 0. 600 0. 500 1. 000 0. 500 0. 025 0. 305 0.077 0. 225 0. 305 0. 500
H=1. 20m Akl
Al-2 MiE  As PE 50 1. 200 0. 500 1. 000 0. 500 0. 025 0. 605 0.077 0.525 0. 605 0. 500




(Bh) Bl KB A s T Iz PR R FRET LX)

B/ S R R R



2 LA =R N
B MEETEZ (6 50LLTF)
(H) Bl K EAT SRR TF L2 N RTFRTTX)
AL} A
2 AR - ~Hik HAL | B R AR ) FiE:u )
K SiE Kk R
Hefel-1| Baea-1| Hafeea-2| Hefta—1| Befgis-1| 4%5Hk

7K 1f 2k
I ES TNV ¢ 50 m L=| 2.70 | 3.90 2.00 76.94 | = 85. 54 85. 540
7K 1fE 2k
I ES TNV 625 m L= 2.10 3.80 = 5.90 5.900
PEVSy b ¢ 50 & N= 1| = 1
PRIV ¢ 50%90° 1 N= 2 2 2 = 6
PRIV ¢ 25X90° 1 N= 2 2 = 4
PE ARy b ¢ 50 18l N= 2 2 2 2| = 8
PESY IEAKAR AL |6 25 1 N= 2 2 = 4
PVY afvh $ 50X ¢ 20 1 N= 1 1 1 = 3
PVY afv} ¢ 25X ¢ 20 1 N= 1 1 = 2

DCIP
LIy 6 100X ¢ 50 fiE N= 1 1 = 2

DCIP
LN 2V ¢ 75X ¢ 50 & N= 1 = 1

DCIP
F 4y kAR ¢ 100X ¢ 25 1 N= 1 1 = 2
PE A AW RIF A F-27 $ 50X ¢ 50 GF 1 N= 1] = 1
YNNI 650X ¢ 25 1 N= 1] = 1
T ¢ 50 LE] N= 1 1 1 = 3
AT $25 & N= 1 1 = 2




pey MRS (95080 TF)
(B BB A T (L2 NTE KT TX) 8
AL} LS
2 Tk - ik BT | R AR A
K SiE Kk JEF:

Hefel-1| Baea-1| Hafeea-2| Hefta—1| Befgis-1| 4%5Hk
PESY IEZKFEFV v b | ¢ 50 & N= 1 1 1
PESy IEZKREFV v b | ¢ 25 & N= 1 1
Vot == ¢ 50 GF 1 N= 1
INRBHEKRZER S | 620 & N= 1
fioo 4 S A ¢ 50 18l N= 1
4587 b=t Bl | ¢ 50 &l N= 1 1 1
fia )7 byt g0 5 | ¢ 25 18l N= 1 1

630, &40, ¢50

B8 vI2 H=0. 60m L N= 1 1 1 1 1 1
IR A H=0. 60m L N= 1




(B Bk R T Lz iR FET LX)

(¢ 50LLTF)

2 JEAR - ~Hik BT FHER AR
Kok %
DCIP
FE oy AR EGA T $ 100X ¢ 25 AT | N= 2 = 2
DCIP
LN ZA VNS ST ¢ 100X ¢ 50 fEFT | N= 2 = 2
DCIP
PN oy KRR A T ¢ 75X ¢ 50 &Pr | N= 1 = 1
a7 BT I 625 & | N= 2 = 2
T EUS T ¢ 50 AT | N= 3 = 3
)L B RS T $25 m | L=] 5.90 = 5. 90
)L E RS T ¢ 50 m | L= 85.54 = 85. 54
PVY" a4V b PVY" a4V}
PEAETF T ¢ 20 0 | N= 3 2 = 5
SRR b IR X 2 | 1Ak S| PVY T a4V b
PEAEF T ¢ 25 0 | N= 2 8 4 2 = 16
S| IVET X 2 | PVYT afvh| PEVFy b | 1kkiRS
PEf T T ¢ 50 0 | N= 3 12 3 2 8 = 28
2RI
S kT ¢ 20 0| N= 1 = 1
el | ke
AR ® 25 0| N= 4 2 = 6
trgiFpe2| syt
AR ¢ 50 0| N= 8 3 = 11
Ffff-2" X2
RRAE T ¢ 50 0 | N= 2 = 2
FffF-2"
770y WkF ¢ 50 0 | N= 1 = 1
)RR E T BT | N= 6 = 6




PR 2 AL e N
() B B AT T (L2 7 K AT 1) BEEHE (6505

75 S i
AR etk - SHE X(vA AR -
H
TSR E R T H=0. 60m EET | N= 1 = 1




R B A AT T (AL T AR T 1%) LLHERW (o508
2 TR - ~Fik HLAL G e B E
Ehidetwr T As 15emEA T m | L= 186.60 = 186. 60
Wi TR/ A |/ AR R

RS 7/ U THVE (PEBEEN) t | G=| 186.60 |/240 #1,53  [*1.1 = 1.31
i R A T As m®> | A=| 51.63 = 51.63
i RO A7 T Co m?

SRSy T As m® | V= 2.78 = 2.78
B sy T Co m?

Btk 1) T m® | V= 34.69 = 34. 69
Al m®

BRI 5 T 17 m® | V= 8.28 = 8.28
BRI 5 T ) m® | V=| 26.28 = 26. 28
B T WA+ m®

FAE Sy T m® | V=| 34.69 = 34. 69
s T m?

RIEIAT. a/7)-b T f

R IHT AR EAs (13) t=5cm m? | A=| 48.83 = 48.83
{58 IR T FE#RIEAs (13) t=3cm m? | A=| 2.80 = 2.80




= S N
OHA) BT RS T8 (a2 PRI ) LIFHEQ  (950HT)
IR T | SRR | AREMULA T | HORSHIT Al WRET ) | WETER | MELGOILD | RAbasT ol T (I T LR
&5 Al PTIEE wm | gl | BOR | BOR | BUCE| BOR | WACE | SR | BUACE | BOR | BUCE | BOR | WOCE | MR | NACE | MR | WGCE | BOR [ WOCR | BOR | RACR| R W] R
wn | O e @ | ew| @ || 6 (e @ e 6 || 6 e @) || @ || @ e @ | em | w
H=0. 60m t=3cm
Al-1 AE As 2.10 | 2. 000 4.20 | 0.500 1.05 | 0.015 0.03 | 0.315 0. 66 0.077 0.16 | 0.235 0.49 0.315 0. 66 0. 500 1. 05
H=0. 60m
Al-1 il As 86.20 | 2.000 172.40 | 0. 500 43.10 | 0.025 2.16 | 0.305 26. 29 0.077 6.64 | 0.225 19. 40 0. 305 26. 29 0. 500 43.10
H=0. 60m
A1-3 il As 1.50 | 2.000 3.00 | 0.500 0.75 | 0.025 0.04 | 0.292 0.44 0. 066 0.10 | 0.225 0.34 0. 292 0. 44 0. 500 0.75
H=0. 60m t=3cm
Al-2 AE As 3.50 | 2.000 7.00 | 0.500 1.75 | 0.015 0.05 | 0.302 1. 06 0. 066 0.23 | 0.235 0.82 0. 302 1. 06 0. 500 1.75
H=1. 20m
B0 [EE  As 2.20 1. 000 2.20 | 0.100 0.22 | 1.269 2.79 0. 247 0.54 | 1. 050 2.31 1. 269 2.79 1. 000 2.20
H=1. 20m
B [EE  As 2.10 0. 800 1.68 | 0.080 0.17 | 0.974 2.05 0. 163 0.34 | 0.840 1.76 0.974 2.05 0. 800 1.68
H=1. 20m
w6 il As 1. 10 1. 000 1.10 | 0. 100 0.11 | 1.269 1. 40 0. 247 0.27 | 1.050 1. 16 1. 269 1. 40 1. 000 1. 10
Co Co Co t=3cm 2.80
2t
98.70 |As 186. 60 |As 51.63 |As 2.78 34. 69 8.28 26. 28 34. 69 As 48. 83




= [ AA N
CHA) B AATRE R T (L2 PP AT L) TLERFTE (0500T)
F a5 R - R BT FHER AR
Kk s
H=0. 60m 1-1
Al-1 B As PE ¢ 50 m 2.10 = 2.10
H=0. 60m 4-1 45 3-1 !
Al-1 il As PE 650 m 1.50 | 76.90 3.30 4.50 = 86. 20
H=0. 60m 3-2
Al-3 il As PE 025 m 1.50 = 1.50
H=0. 60m 5-1
Al-2 HRIE As PE $25 m 3.50 = 3.50
H=1. 20m 25T E |2-15TF
/O [EiE  As DCIP-NS ¢ 150 m 1. 10 1. 10 = 2.20
H=1. 20m 15 TF 35 TF 55 TF
RO [EiE  As DCIP-NS ¢ 100 m 0.70 0.70 0.70 = 2.10
H=1. 20m 25 TF
RO HiE  As DCIP-NS ¢ 150 m 1. 10 = 1. 10




RUSTS o sk .
CRA) BOA AT T L2 A FAT LX) RALELARE (¢5080T)
T T HER
5 o o ER wHME +1v HHINE | ETEASE| R TREIE | ARG ARG | B | FTEWE | 2R EEER | UEIRIE | RRIE | OH R | fer
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=0. 60m
Al-1 AE As PE 50 0. 060 0. 600 0. 500 0. 660 0.630 0. 030 0. 100 0. 160 0. 003 0. 030 0.470
H=0. 60m
Al-1 il As PE 50 0. 060 0. 600 0. 500 0. 660 0.610 0. 050 0. 100 0. 160 0. 003 0. 050 0. 450
H=0. 60m
Al-3 i As PE 25 0. 034 0. 600 0. 500 0. 634 0. 584 0. 050 0. 100 0.134 0. 001 0. 050 0. 450
H=0. 60m
Al-2 AJE As PE 25 0. 034 0. 600 0. 500 0.634 0. 604 0. 030 0. 100 0.134 0.001 0. 030 0.470
H=1. 20m
i) [EE As DCIP-NS 150 0. 169 1. 200 1. 000 1. 369 1. 269 0. 100 0. 100 0. 269 0. 022 0. 050 1. 050
H=1. 20m
RO [EE As DCIP-NS 100 0.118 1. 200 0. 800 1.318 1.218 0. 100 0. 100 0.218 0.011 0. 050 1. 050
H=1. 20m
RO miE  As DCIP-NS 150 0. 169 1. 200 1. 000 1. 369 1. 269 0. 100 0. 100 0. 269 0. 022 0. 050 1. 050
SHLILAHAET 2 PR
Im% Y o+ THE
=5 a5 . B THk0 JEHIE | SEAEUIMT | BRAGRRGRE | BRELRULSY | BERRAEEI | ADIEE | HRR () | HRERE (Ren) MR GER L) | BAE LS| BT AR T
(mm) (m) (m) (m) (n®) (") (n®) (") (n®) (") (n®) (") (”) (”) (m)
H=0. 60m Al
Al-1 AE As PE 50 0. 600 0. 500 2. 000 0. 500 0.015 0.315 0.077 0. 235 0.315 0. 500
H=0. 60m Al
Al-1 il As PE 50 0. 600 0. 500 2. 000 0. 500 0. 025 0. 305 0.077 0. 225 0. 305 0. 500
H=0. 60m [nogiil]
A1-3 MiE  As PE 25 0. 600 0. 500 2. 000 0. 500 0. 025 0.292 0. 066 0. 225 0.292 0. 500
H=0. 60m [Cogil]
Al-2 5B As PE 25 0. 600 0. 500 2. 000 0. 500 0.015 0. 302 0. 066 0. 235 0.302 0. 500
H=1. 20m
e ) & As DCIP-NS 150 1. 200 1. 000 1. 000 0. 100 1. 269 0. 247 1. 050 1. 269 1. 000
H=1. 20m
EEO) & As DCIP-NS 100 1. 200 0. 800 0. 800 0. 080 0.974 0. 163 0. 840 0.974 0. 800
H=1. 20m
EE6) WE  As DCIP-NS 150 1. 200 1. 000 1. 000 0. 100 1. 269 0. 247 1. 050 1. 269 1. 000




(Bh) Bl KB A s T Iz PR R FRET LX)

(NS Cag e

p=(1{{t



WL S (JA kA
() RS AT T3 (L2 N7 A T TIX) PR (AR

25 B LR
B TEAR - <1k AL | HALR HE-E: ) FE
K3 I 2
& VIFvon 47 ¢ 20 m L =1239.90 = 239.90 | 239.900
K3 I 2
)z 47 ¢ 25 m L=| 9.30 = 9.30 9.300
K3 I 2
)z 47 ¢ 40 m L=| 3.20 = 3.20 3.200
PEHI
VIS oA Y $ 50X ¢ 20 1 N= 8 = 8
DCIPA
VIS oA Y G 75X ¢ 20 1 N= 3 = 3
DCIPA
VIS oA Y 75X ¢ 25 1 N= 1 = 1
DCIPA
VIS oA Y G $ 100X ¢ 20 1 N= 38 = 38
DCIPA
P Aoy kAR ¢ 100X ¢ 25 1l N= 2 = 2
DCIPJH
P8 Aoy kAR ¢ 100X ¢ 40 1l N= 1 = 1
DCIPJH
F AT S kAR ¢ 150X ¢ 20 1 N= 11 = 11
PESy L FA )y b ¢ 20 il N= 60 = 60
PESY IE A Yy b 625 il N= 3 = 3
PESY IE A Yy b ¢ 40 il N= 1 = 1
AT ¢ 20 il N= 52 = 52
HEAgaT ¢ 25 i N= 3 = 3
g7 ¢ 40 i N= 1 = 1




NN = k/‘_i \"L\ ,/ré;
() RS AT T3 (L2 N7 A T TIX) PR (AR

g TEAR - <1k AL | HALR HE-E: - ) FE
p s JIE £

PEA-4-H

60° ny) ATVE ¢ 20 18l N= 56 = 56
PEA-4-H

607wy A /N ¢ 25 & N= 3 = 3
PEF-2" $ 20X ¢ 20 1 N= 2 = 2
PESy 1)y b ¢ 40 18l N= 2 = 2
PVY” afvh ¢ 40 il N= 1 = 1
AP A LR KAR: | ¢ 20 il N= 4 = 4
AP A LR KAR | ¢ 25 il N= 3 = 3
A=R-EREHE L KRR | 920X ¢ 13 il N= 54 = 54
A=R=E 9 A 20/ il N= 48 = 48
A==y IR ¢ 25 1 N= 3 = 3
A8 7 bt glge | ¢ 40 p N= 1 = 1

¢ 30, ¢ 40, ¢50
IR 972 H=0. 60m % N= 1 = 1




(Bgh) Bl KB AT R T80 (L P R FRT LX)
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(m/m) (m) (n®/m) (m®) (n’/m) (m”) (m’/m) (m”) (m’/m) (m”) (m’/m) (n”) (m”/m) (n”) (m”/m) (n”) (m”/m) (n”) (m”/m) (n®) (m”/m) (n®) (m/m) (m)
H=0. 60m t=3cm
Al-1 EREAE  As 73.50 | 2.000 | 147.00 | 0.500 | 36.75 | 0.015 1.10 | 0.299 | 21.98 0. 063 4.63 [ 0.235 | 17.27 0.299 | 21.98 0.500 | 36.75
H=0. 60m t=bcm
Al-1 Tl As 93.30 | 2.000 | 186.60 | 0.500 | 46.65 | 0.025 2.33 1 0.289 | 26.96 0. 063 5.88 | 0.225 | 20.99 0.289 | 26.96 0.500 | 46.65
t=bcm
YN0 ENAs 13.50 | 2.000 | 27.00 | 0.300 4.05 | 0.015 0.20 | 0.065 0.88 0. 064 0.86 | 0.001 0.01 0. 300 4.05
2.000 | 96.80 | 0.300 | 14.52 | 0.030 1.45 0.300 | 14.52
O EMCo 48. 40 0. 050 2.42 0. 049 2.37 | 0.001 0.05
[EN6) ENGr 6.90 0. 080 0.55 0.079 0.55 | 0.001 0.01
H=0. Tm t=10cm
Al-3 EiE As 16.80 | 2.000 | 33.60 [ 0.600 | 10.08 | 0.060 1.01 | 0.376 6.32 0.075 1.26 | 0.300 5.04 0.376 6.32 0.600 | 10.08
Ast=3cm 36.75
Ast=10em |  10. 08
Co 96. 80 |Co 14.52 |Co 1.45 Co 14.52
i
252.40 |As 394.20 |As 97.53 |As 4.64 59. 11 11.77 43.30 3.78 55. 33 Ast=5cm|  50.70
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(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=0. 60m
Al-1  |EEAE  As PE 20 0. 027 0. 600 0. 500 0. 627 0. 597 0. 030 0. 100 0. 127 0.001 0. 030 0. 470
H=0. 60m
Al-1 Tl As PE 20 0. 027 0. 600 0. 500 0. 627 0. 577 0. 050 0. 100 0. 127 0.001 0. 050 0. 450
#a/k@® EHNAs PE 20 0.027 0. 240 0. 300 0. 267 0.217 0. 050 0.001 0. 050 0. 217
#Hk® £MCo PE 20 0. 027 0. 240 0. 300 0. 267 0. 167 0. 100 0.001 0. 100 0. 167
#hk® EHNG6r PE 20 0. 027 0. 240 0. 300 0. 267 0. 267 0.001 0. 267
H=0. 7m
A1-3 EE  As PE 20 0. 027 0. 700 0. 600 0. 727 0. 627 0. 100 0. 100 0. 127 0.001 0. 100 0. 500
MBI EHLE IR A VbR
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(mm) (m) (m) (m) () (n®) () (n®) () () () (n®) (®) () (m)
H=0. 60m Il
Al-1 | As PE 20 0. 600 0. 500 2. 000 0. 500 0.015 0. 299 0. 063 0. 235 0. 299 0. 500
H=0. 60m Il
Al-1 Tl As PE 20 0. 600 0. 500 2. 000 0. 500 0. 025 0. 289 0. 063 0. 225 0. 289 0. 500
A
#AkO FHAs PE 20 0. 240 0. 300 2. 000 0. 300 0.015 0. 065 0. 064 0.001 0. 300
[
[Y/O) FHCo PE 20 0. 240 0. 300 2. 000 0. 300 0. 030 0. 050 0. 049 0.001 0. 300
#hk® EWNGr PE 20 0. 240 0. 300 0. 080 0.079 0. 001
H=0. Tm [
Al-3 [EiE As PE 20 0. 700 0. 600 2. 000 0. 600 0. 060 0. 376 0.075 0. 300 0. 376 0. 600
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% P (m) [ENE |miss| dE | EN | BN | BN
2:VP X X X X X As As As As Co JZ ]
3:PP 650X | 625X | ¢20x% ¢ 20 20
20| ¢25] 30| $640] ¢50] 20| $25] ¢30] 40| ¢ 50| ¢20] $25| ¢ 30| 40| 650] ¢20] 25| $20] ¢20] $20| $630] ¢40| $50| ¢30] ¢40| 50| ¢20 | $25 | $30 | ¢40 | $50 X613 ¢$20] 25| $30]| ¢40| $50| $20] 25| %613 $25] ¢30] 40| ¢ 50 JEE [ H=0.7]| H=0.6| H=0.6| H=0.3 | H=0. 3 | H=0. 3
1 613 1 100 1 1 1 1 2.9 1]1¢20 A 2.9 1.9 1.0
5 ¢ 13 1 100 1 1 1 1 2.9 11¢20 A 2.9 1.9 1.0
6 |72 L
7 ¢ 13 1 100 1 1 1 1 1.5 11¢20 A 1.5 0.9 0.6
8 b 13 1 100 1 1 1 1 1.5 1]¢20 A 5 0.9 0.6
9 ¢ 13 1 100 1 1 1 1 1.9 11¢20 A 1.9 0.9 1.0
10 |G Lswn
11 ¢ 13 1 100 1 1 1 1 2.1 1 A 2.1 0.9 1.2
12 b 13 1 100 1 1 1 1 1.9 1]¢20 A 1.9 0.9 1.0
13 ¢ 13 1 75 1 1 1 1 7.2 11¢20 A 7.2 6.0 1.2
14 625 1 75 1 1 1 1 1.2 1 25 A 1.2 0.7 0.5
15 ¢ 13 1 75 1 1 1 1 2.4 11¢20 A 2.4 1.5 0.9
16 |FEF7Z2 L
1~20 | e T.4-1
21 $ 13 1 75 1 1 1 1 2.3 1]¢20 A 2.3 2.0 0.3
22 ¢ 13 3 50 1 1 1 2.1 11¢20 A 2.1 1.8 0.3
23 $ 13 3 50 1 1 1 2.0 1]¢20 A 2.0 1.7 0.3
24 ¢ 13 3 50 1 1 1 2.5 11¢20 A 2.5 1.5 1.0
25 b 13 3 50 1 1 1 2.4 1]¢20 A 2.4 1.4 1.0
26 ¢ 13 3 50 1 1 1 2.4 11¢20 A 2.4 1.4 1.0
27 $ 13 3 50 1 1 4.2 1 B 4.2 4.2
28 ¢ 13 3 50 1 1 1 4.3 11¢20 A 4.3 3.8 0.5
29 ¢ 13 3 50 1 1 1 5.0 1| ¢20 A 5.0 3.8 1.2
30 ¢ 13 1 100 1 1 1 1.1 1 B 1.1 1.1
31-32 ¢ 13 1 100 1 1 1 1.1 1 B 1.1 1.1
33 ¢ 13 1 100 1 1 1 1.1 1 B 1.1 1.1
34 b 25 1 100 1 1 1 1 2.3 1 ¢ 25 A 2.3 1.3 1.0
35 ¢ 13 1 150 1 1 1 1 3.7 11¢20 A 3.7 3.3 0.4
36 ¢ 13 1 150 1 1 1 1 6.3 1| ¢20 A 6.3 3.4 2.9
37 ¢ 20 1 150 1 1 1 1 6.3 1 ¢ 20 A 6.3 3.4 2.9
38 ¢ 13 1 150 1 1 1 1 2.0 1| ¢20 A 2.0 0.8 1.2
39 ¢ 13 1 150 1 1 1 1 4.4 11¢20 A 4.4 2.9 1.5
40 ¢ 13 1 150 1 1 1 1 3.5 1| ¢20 A 3.5 2.9 0.6
41 ¢ 13 1 150 1 1 1 1 1.8 11¢20 A 1.8 0.8 1.0
42 ¢ 13 1 150 1 1 1 1 3.8 1| ¢20 A 3.8 3.0 0.8
43 ¢ 13 1 150 1 1 1 1 1.3 1 A 1.3 0.8 0.5
44 ¢ 20 1 150 1 1 1 1 1.6 1 ¢ 25 A 1.6 0.8 0.8
45 ¢ 13 1 1.1 11¢20 A 1.1 0.5 0.6
46 |FKSZE | 913 1 150 1 1 1 1 2 24.3 1] ¢20 A |24.3 15.0 | 9.3
47 ¢ 13 1 1.5 11¢20 A 1.5 0.5 1.0
49
50
51
52 ¢ 13 1 100 1 1 1 1 4.6 11¢20 A 4.6 3.6 1.0
53 ¢ 20 1 100 1 1 1 1 3.4 1 A 3.4 1.7 1.7
54 ¢ 13 1 100 1 1 1 1 3.2 1]1¢20 A 3.2 2.7 0.5
55 ¢ 13 1 100 1 1 1 1 2.0 1| ¢20 A 2.0 1.7 0.3
56 ¢ 13 1 100 1 1 1 1 3.2 1]1¢20 A 3.2 2.7 0.5
57-58 | $EfE 1.3-2
59 ¢ 13 1 100 1 1 1 1 3.4 1 A 3.4 2.8 0.6
60 $ 20 1 100 1 1 1 1 3.8 1 ¢ 20 A 3.8 2.8 1.0
61 ¢ 13 1 100 1 1 1 1 2.1 1]1¢20 A 2.1 1.7 0.4
62 $ 40 1 100 1 1 1 2 3.2 1 1 C 3.2 3.2
63-64 | $5f¢ 1.3-1
65 ¢ 13 1 100 1 1 1 1 3.6 1| ¢20 A 3. 6 2.9 0.7
66 ¢ 13 1 100 1 1 1 1 3.4 1]1¢20 A 4 2.9 0.5
67 [#ak7e L
681 G4 L 221>
68-2 ¢ 13 1 100 1 1 1 1 5.0 1| ¢20 A 5.0 0.5 3.5 1.0
69 ¢ 13 1 100 1 1 1 1 5.2 1 A 5.2 0.5 4.0 0.7
70 ¢ 13 1 100 1 1 1 1 5.6 1| ¢20 A 5.6 0.5 3.5 1.6
71 ¢ 13 1 100 1 1 1 1 4.9 1]1¢20 A 4.9 0.5 3.5 0.9
72 b 25 1 100 1 1 1 1 5.8 1 A 5.8 0.5 3.5 1.8
73 ¢ 13 1 100 1 1 1 1 5.2 1]1¢20 A 5.2 0.5 3.5 1.2
74 ¢ 13 1 100 1 1 1 1 5.0 1| ¢20 A 5.0 0.5 3.5 1.0
75 ¢ 13 1 100 1 1 1 1 5.9 1]1¢20 A 5.9 0.5 3.5 1.9
7677 [$Efc 1.5-1
78 ¢ 13 1 100 1 1 1 1 6.0 1 A 6.0 0.5 3.5 2.0
79 ¢ 13 1 100 1 1 1 1 5.1 1| ¢20 A 5.1 0.5 3.4 1.2
80 $ 13 1 100 1 1 1 1 5.3 1]1¢20 A 5.3 0.5 3.1 1.7
81 ¢ 13 1 100 1 1 1 1 4.6 11¢20 A 4.6 0.5 3.0 1.1
82 $ 13 1 100 1 1 1 1 4.6 1]1¢20 A 4.6 0.7 2.8 1.1
83 ¢ 13 1 100 1 1 1 1 4.6 11¢20 A 4.6 0.7 2.8 1.1
84 $ 13 1 100 1 1 1 1 4.5 1 A 4.5 0.7 2.8 1.0
85 ¢ 13 1 100 1 1 1 1 4.6 1 A 4.6 0.6 2.9 1.1
86 $ 13 1 100 1 1 1 1 4.8 1 A 4.8 0.5 3.3 1.0
87 ¢ 13 1 100 1 1 1 1 5.0 11¢20 A 5.0 0.5 3.9 0.6
88 $ 13 1 100 1 1 1 1 4.9 1]1¢20 A 4.9 0.5 3.9 0.5
620=48
¢ 25=3
it 60 3 1 60 3 1 52 3 1 56 3 2 2 239.9 9.3 3.2 4 1 4 3 54 1 252.4 )1 16.8 | 73.5 [ 93.3 | 13.5 | 48.4 6.9
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